     Fill in the blanks by choosing the right words :

1- The Treaty of Sèvres was signed in France on August 10, ............

A- 1921     B- 1922      C- 1920       D- 1919

2- The Treaty of Sèvres was signed in ………. on August 10, 1920.

A- Britain      B- Turkey      C- France       D- Greece

3- The Treaty of Sèvres was ………. in France on August 10, 1920.

A- Deleted       B- Signed       C- Canceled        D- Torn

4- The Treaty of Sèvres forced Turkey to .............. its claims on Arab lands in the Middle East and North Africa.

A- Ensure      B- Renounce      C- Secure       D- Improve

5- The Treaty of Sèvres forced Turkey to renounce its claims on Arab lands in the ……….. East and North Africa.

A- South        B- Far        C- Middle      D- North

6- The Treaty of Sèvres was replaced in 1923 by the Treaty of ............. .

A- Istanbul     B- Sykes-Picot      C- Paris       D- Lausanne

7- The Treaty of Sèvres was replaced in …..…. by the Treaty of Lausanne.

A- 1920       B- 1923      C- 1919      D- 1918

8- According to the draft of the Treaty of Sèvres, ............. was to be left to Turkey.

A- Aegean Islands     B- Istanbul      C- Palestine       D- Iraq

9- According to the ….……… of the Treaty of Sèvres, Istanbul was to be left to Turkey.

A- Battle             B- Door             C- Lausanne             D- Draft

10- For Mustafa Kamal Atatürk, the Treaty of Sèvres was a major ........... . 

A- Victory     B- Setback      C- Success       D- winning

11- For ………., the Treaty of Sèvres was a major setback .

A- Germany    B- Britain    C- Mustafa Kamal Atatürk     D- Muhammad Ali

12- According to the Ottoman ………. of 1876, international agreements do not take effect until approved by the parliament.

A- Constitution      B- Battle         C- War         D- Army

13- According to the Ottoman constitution of 1876, international agreements do not take effect until approved by the ………. .

A- King        B- Parliament       C- Europeans       D- Soldiers

14- The Treaty of Sèvres never took effect, because the Turkish parliament ……….. to ratify it.

A- Failed         B- Agreed          C- Accepted            D- Succeeded 

15- The Treaty of Sèvres never took effect, because the ………. parliament failed to ratify it.

A- British       B- French       C- Turkish        D- Greek

16- The Turkish National Assembly was founded in ……… on April 23, 1920.

A- Cairo      B- Ankara      C- Izmir       D- Bosporus

17- The Turkish National Assembly was ………. in Ankara on April 23, 1920.  

A- Canceled       B- Dissolved        C- Divided        D- Founded 

18- The Armistice of Mondros ended the World War I on the ……… front.

A- American      B- German      C- Ottoman      D- Austrian  
